l? a) About 1 gram
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Converﬁng English and Metric

1) pounds = 75  kilograms
2) ounces = 18/ 7 grams
3) 135 pounds =g ¢ - kilograms
49 15 ounces Sed- b o o grams
5) pounds =iy 16- - . kilograms
6:):-12.5 pounds =pe @i kilogramis
7) 8 ounces =% & grams
=8y T olnices = _14_?_‘____ grams
O ). pounds 2 i = e Kilogragis
10 ) __ ounces = _185  grams
(c L) 2000 0 poundsis, = 215  kilograms
12 )29 ounces = grams
13) ________ ounces =-95.  grams
14 ) ounces = 195 grams
1657) ¢ 20 pounds = kilograms
16:) =17 pounds = kilograms
'17) 6.5 pounds = kilograms
18 ) pounds = L kilograms .
19.):8.5 ounces = grams
20) 22 _ ounces = grams
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Convert the following weights.

) Aots kg, b) 2.8kg= 9

Q. 1253» kg d) 24g= kg
= k

&) L= \b f) 36tn 9

How many tens are in | tonhe?

What is the total weight in grams of 3 packages of nuis weighing, 1.2 kg, 0.75 kg,
and |.5 kg?

Win weighs 78 kg and; his dog weighs [8 kg. If his fruck weighs 1.9 t and thece are
5 boxes of books each weighing, .8 kg,in the fruck, what is the total weight of the
teuck, including, Win, his deg,, and the books?

. Karen is making a batch of potate soup. She needs 8 potatoes, and each potaide

weighs about 375 g How many pounds of potatoes does she need?

Tf a 10-1b bag of grass seed costs $75.45, how much does the seed cost per kilogram?

How many quartec-pound (befsre cooking,) harburgers can you make from 1.9 kg,
of ground beef?
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